Schoon .

Fahrzeugsysteme

Montageanleitung Stirnwandgitter

o ? ¥ FEHREE =i - 3
e T — — o T s oL Ny J y
P X 2 y

SR
i # iy ZE
AR R IR B e BB

-
Hittaad....] }

FET T T T T et

Lieferumpfang

v 1 Stirnwandgitter
v' 1 Set Befestigungsmaterial

2 Schlossschrauben

2 X Muttern M8

2 x Unterlegscheibe klein
2 X Abdeckkappen klein
2 X M10 x 45

2 X M10 x 35

4 x Muttern M10

6 x Unterlegscheibe grof3
4 x Federring

Stand: Oktober 18

Schoon Fahrzeugsysteme GmbH

Oldenburger Str. 40 * 26639 Wiesmoor ® Telefon 04944 / 91696-0 * Fax -28 * schoon@fahrzeugsysteme.de
www.fahrzeugsysteme.de




